TREE RREASEREABRKERE (1EE)

POKFEH B 9H20H — 11150 9/ 20H —
BB PO Bk | A BTRZ ] s
E B 4 oA K i ok (RAEAL Y S579)
pH 6.6 7.2 5.8~8.6 — 6.9 —
C OD (mg/L) 4.4 3.7 *95 — — —
B OD () 0.7 <0.5 *95 — — —
S B (n) 2 <1 *50 — — —
& B H (n) 22.2 20. 1 120 — — —
NV (n) — <0.03 16 - - -
HvwmA A () 95 74 — 21 67 —
TERRER (us/cm) 1, 820 1, 760 — 500 1, 200 —
KIGHEREEL (f# /mL) — 0 3, 000 — — —
A~ (mg/L) — — 5(30) — — —
PEVAYZ | () — — *1 — — —
i (n) — €0.01 3 — — —
[N () — 0.09 5 — — —
TRtk (n) — 0.01 10 — — —
YRR~ A (n) — 4.20 10 — — —
Bt/ =N (n) — <0.1 2 — - -
T ALEW () — €0.1 1 — — —
HHgEY (n) — — 1 — — —
RV A () — <0. 003 0.1 <0. 0003 <0. 0003 0.003
BT (n) — 0.1 — FrH g &g
£ (n) — <€0.01 0.1 €0.01 <0. 005 0.01
AN IZA=A (n) — <0. 04 0.5 <0. 04 <0. 005 0. 05
fit F# () — <0.01 0.1 <0. 005 0. 002 0.01
FeAK R (n) — — 0. 005 <0. 0005 <0. 0005 0. 0005
KR () — — BE T ER g M BE T
P C B (n) — — 0. 003 A EN e Bmshd
D/ A=2=F 3 N (n) — — 0.2 <0. 002 <0. 002 0. 02
PutE{b bR (n) — — 0.02 <0. 002 <0. 0002 0. 002
1,2-vranxiy (n) — — 0. 04 <0. 002 <0. 0004 0. 004
L,1-Y7aaxzFLv (n) — — 1 <0. 002 <0. 002 0.1
1,2-v7maaxFLi(st) (n) — — 0.4 <0. 002 <0. 004 0. 04
1,1,1-N)ymax sy (n) — — 3 <0. 002 <0. 0005 1
1,1,2-F)ranx gy (n) — — 0. 06 <0. 002 <0. 0006 0. 006
[NEA=1=EC S (n) — — 0.3 <0. 002 <0. 001 0.01
FhFrapTFL (n) — — 0.1 <0. 002 <0. 0005 0.01
1,3-Yranraa~y (n) — — 0. 02 <0. 002 <0. 0002 0. 002
FUT A () — — 0. 06 <0. 006 <0. 0006 0. 006
D (n) — — 0.03 <0.003 <0. 0003 0.003
FARCHINT () — — 0.2 <0. 02 <0. 002 0. 02
NP (n) — — 0.1 <0. 002 <0. 001 0.01
Ly () — <0.01 0.1 <0. 002 <0. 001 0.01
T v U B - - - 10
o (n) — €0.2 *g — — 0.8
EES (n) — 0.2 10 — 0.5 1
L 4=V xH (n) — — 0.5 <0.05 <0. 005 0. 05
#Hire=1r% /) ~— (n) — — 0. 05 <0. 0002 <0. 0002 0. 002
WA AU (ng-TEQ/L) — 0. 00093 10 0.037 1
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BAKEH H 12A20H — — 12A20H —
= P = PR

? i N & ; - ;\X i*kﬁﬁjﬁ | A (;{Egﬁ;@ Rk e
pH 6.6 7.3 5.8~8.6 — 7.1 —
C OD (mg/L) 4.7 4.1 *95 — 4 —
B OD (n) 6.3 0.7 *95 — <1.0 —
) B (n) 12 <1 *50 — <1.0 —
& B H (n) 18.5 17.2 120 — 0.9 —
& U v () 0.1 <0.03 16 — 0.1 —
HvwmA A (n) 110 98 — — 91 —
ERAZE R (us/cm) 2, 040 1,620 — — 1, 100 —
R (1 /mL) 37 0 3,000 — 0 —
A~ (mg/L) — 0.5 5(30) — — —
7 x /) —IVHA () — <0.1 *q — — —
i (n) — <0.01 3 — 0.1 —
i (n) — 0. 06 5 — <0.1 —
TRtk (n) — 0. 02 10 — <0. 02 —
TRIRNE~ () — 1.88 10 — 0.038 —
ESV/A= N (n) — 0.1 2 — <0. 005 —
T ALEW () — 0.1 1 — — —
HHEY () — 0.1 1 — — —
I RIT A (n) — <0. 003 0.1 — <0. 0003 0.003
BT (n) — — — — 0.1 BHEhd
£ (n) — <0.01 0.1 — <0. 005 0.01
Y (iIPZA=N (n) — <0. 04 0.5 — <0. 005 0. 05
fit (n) — <0.01 0.1 — 0. 002 0.01
KK ER (n) — <0. 0005 0. 005 — <0. 0005 0. 0005
FHKER (n) — R BHshd — M H BHshd
P C B (n) — <0. 0005 0.003 — A BtEn$
vrun ALy () — <0. 02 0.2 — <0. 002 0. 02
PutE{b bR (n) — <0. 001 0. 02 — <0. 0002 0. 002
1,2-vrmaraxiy () — <0. 004 0. 04 — <0. 0004 0. 004
L,1-¥7rpxFi (n) — <0. 02 1 — <0. 002 0.1
1,2-Y7mamF L oA(s,t) (n) — 0. 04 0.4 — <0. 004 0.04
1,1,1-N)ymax sy (n) — <0. 001 3 — <0. 0005 1
1,1,2-F)ranx gy () — <0. 006 0. 06 — <0. 0006 0. 006
[DEAEI=E S (n) — <0. 001 0.3 — <0. 001 0.01
FhoruaTFL () — <0. 001 0.1 — <0. 0005 0.01
1,3-Yrmnraa~sy (n) — <0. 002 0. 02 — <0. 0002 0. 002
FUT A (n) — <0. 006 0. 06 — — 0. 006
D () — <0. 003 0.03 — — 0. 003
FARTINT (n) — <0. 02 0.2 — — 0. 02
NPy (n) — <0. 01 0.1 — <0. 001 0.01
Ly () — <0.01 0.1 — <0. 001 0.01
Aol Ghe ) - 16.0 100 — <1 10
BNCE 3 () — €0.2 8 — €0.2 0.8
EE (n) — 0. 20 10 — — 1

L 4-V %Y () — <0. 005 1 — <0. 005 0. 05
#Hire=1% /) ~— (n) — — 0. 02 — <0. 0002 0. 002
A AAF U (ng-TEQ/L) — — 10 — 0. 00024 1
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